W CR(A) HFA—Z4 (= m)
MI&W@M [M5BV3] BEER =1/2560 REZ =65.0% EH7R=#{KHE /16/100@ EIk =42123848&11

WEIE S A - FR A [9BQ1] FEE =1/000 FEZE =510% EHA = BIKA /16/30 B ik 481838486

W RRE AR - [ HE0] A7
W E R AT —- - 48
BEREEH{G - BF 2 — Nk
[ EPE N TR Y
WY.L
WEE-- AT

[MAX HE]
[M5BV3]) (11 {& /10C)
© 4R+ 400 {@
* 8R--- 800 &
*16R"++1,600 {&
[9B8Q1] (6 {8 /10C)
- 8R---400 &
*16R * 800 {&

WA O

ST Q DO

[E§E 32— aV]
<BEREEH= 5 B>

O FIHE, MEAMMEM] (cRYES, [BH B8] TOEMIZFCET, Presented by TKC (HREH M2/ - /7 - 25 T8 X)




